INT 1.2.1

HORARIO
8:00 : ING ISMAIR (1) GEO HELOISA (2)
g 8:50 : ING ISMAIR (1) GEO HELOISA (2)
= 9:40( 10:00 INTERVALO
a 10:00| 10:50 HELOISA (1) ISMAIR (2)
g 10:50| 11:40 HELOISA (1) ISMAIR (2)
11:40| 12:30 RODRIGO
8:00 CASSIANO
< 8:50 CASSIANO
(&) 9:40 INTERVALO
ﬁ 10:00 RODRIGO
= | 10:50] 11: MARIA DE FATIMA
11:40( 12:30} HIS MARIA DE FATIMA
8:00 ISMAIR
ﬁ 8:50 ISMAIR
o 9:40 INTERVALO
g 10:00 CASSIANO
<] 10:50 CASSIANO
11:40 ANDERSON
8:00
< 8:50
E 9:40 INTERVALO
= 10:00 VESTIARIO
[« ) 10:50 PAULA (1) CAROLINE (2)
11:40 PAULA (1) CAROLINE (2)
8:00 CAROLINE
< 8:50 CAROLINE
9:40 INTERVALO
E 10:00 CAROLINE (1) PAULA (2)
n 10:50 CAROLINE (1) PAULA (2)
11:40 ANDERSON




